df(Hz)

df(Hz)

-0.6 -0.4

-0.8

-1.0

0.4

0.2

0.0

fref vs mean(fmeas)-fref

Isfit: slope= -3.633e-06 ,intcp= 0.0066

150000 200000 250000

fref(Hz)

fref vs various df's

line: slope=1.e-6

df of 20MHz tic o
max(abs(fcor-fref)) o
rms(fcor-fref)

* mean(fcor-fref)

1
*

*

o o 800
0080008 o
T 0800 o © o o
(@)8 80900
-0080000000000000000
T

150000 200000 250000

fref(Hz)

df(Hz)

0.010

0.0

300 400

200

S/N 302871, pl, b3

fref vs mean(fcor)-fref

corrected clock= 20000072.66 Hz

o

150000 200000 250000

fref(Hz)

# of 0.1 sec samples

o
0 00,60%9%9600°9°%°40

o

150000 200000 250000

fref(Hz)




